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this replaces Poisson’s equation (to which it reduces in the static case). Putting Egs. 10.2
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Eiua/tioﬂs/IOA and 10.5 contain all the information in Maxwell’s equations.
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Problem 10.2 For the configuration in EX. 10.1, consider a rectangular box of length /, wideh =3 kbR
w, and height i, situated 2 distance d above the yz plane (Fig. 10.2).
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(s) Find the cnergy in the box at time 1y = d/c,and at i = (@ +B)/c. = kY =2 - Dy,
(b) Find the Poynting vector, and determine the energy pe unit time flowing into the box = S -
during the interval 1 <t <f2. Bz é;
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equals the net influx.
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; Problem 10.6 Which of the potentials in Ex. 10.1, Prob. 10.3, and Prob. 10.4 are in the Coul
charemﬂ:cln'cngwge'? (Notice thatthesegauges are not mutually exclusive
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Find the charge and current distributions that would give rise to the potentials '
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Pmbhmlll.ZSApamclaeofchugeq is traveling at constant speed v along the x axis. Calcul:ue
the toulpowm'pasmngthroughmeplmex a, at the moment the particle itself is at (he
origin. [Answer: g v/327reoa2]
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